
Shakespeare - Opus 2
Carl Nielsen (1865-1931)arr. Hans Jorgen Messerschmidt

Trumpet Bb

Horn F

Euphonium

  
Andantino ( =80)        
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  
Andantino ( =80)       
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  
Andantino ( =80)  
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                    
        

          


          

    


                     
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         
     

 1.

 
 

 2.





        


                


    
                    


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